EEERR % A
= A
EXN LR BERANARGS
& A =i
(BT
EEEHEE
(RED ERMHZOEEIVHS
B = E &K
HEE E7r
K4

(EEE

ROESYEHRARERERZEFALEZODT, ARBL TS,

/_L\\

Pt

%

g2 B 2 E

M AREER %

E A RELRKS

FMAB/

(BE%)

F A B

Zs J= a [

i 7
5 7

FREHS
FAOHE

Y

O/nN—KJL OB~k ORIFERRM—Z

Ox470o OZnth( )

A% kU
EEERA

FAERSD
EUANE

A)

AIGHE
BURDF

Y

HEL

(Re8%H)




ERFEAR B RERR R A At
e | B B | B% | AR BB BAro | BEME | =% | =AM
4 F1| 12,000 KEE 1 ®= | 1,500
|~ M
4 1| 18,000 Tk S5 B 1 ®= | 3,000
+
. % #| 3,000 sEHER | 1 @ |15000
EREE
E31 £ | 4500 Hyvh—37e—AE[ 1E1xX | 700
N 2\ it @ —#@m[ 1B —=| 14,000
tme
BaEA1E1@E- 8] 200
ABpZEo| B A M| B8% BB AR
WEA) (B) (C)(A-B) (Cx0.1) .
Za7AR—k  [1B—=| 2,200
I\ it @
I\ 0
ok 5O
&
| HREERERL
%
A mmemAs O
A D+2+3)




